Arbeitssseite (P6, Make in 1/100 mm ) Mf=Messfolge  Mp=Messpunkt Mk = Messkreis Mk = Messkeis e e
Mf 1-3 (N'\u’l'llgu'gkt) Mp-2 Mp-3 Mp-4 Mp-5 Mp-6 Mp-7 Mp-8 Mp-9 Mp-10 Mp-11 Mp-12 (NMlEJr?kt)
Mk-1 0 0 Mp's nicht 1 4 6 Mp's nicht 9 9 ’ Mp's nicht 2 1
Mk-2 0 0 verfligbar! 1 3 6 verfiigbar! 10 9 7 verfiigbar! 2 0
Mk-3 0 -1 0 1 3 6 8 10 9 8 5 2 -1
@ Mf 1 0 0 0 1 3 6 8 10 9 7 5 2 0
Mf 2 (Nl\lflﬂ?u-r:lkt) Mp-2 Mp-3 Mp-4 Mp-5 Mp-6 Mp-7 Mp-8 Mp-9 Mp-10 Mp-11 Mp-12 (N"u"ﬂlf’u;:kt)_
Mk-1 0 0 Mp's nicht 1 4 7 Mp's nicht 10 9 I Mp's nicht 2 0
Mk.2 0 0 verfiigbar! 1 3 5 verfiigbar! 9 9 - verfiigbar! 5 0
Mk-3 0 -1 -1 0 5 4 7 8 8 7 4 1 0
@ Mf 2 0 0 -1 1 4 6 7 9 9 7 4 2 0
Mf 3 <N“u"§u'n1kt) Mp-2 Mp-3 Mp-4 Mp-5 Mp-6 Mp-7 Mp-8 Mp-9 Mp-10 Mp-11 Mp-12 (N“Lﬂng:kt)
Mk-1 0 0 Mp's nicht 3 5 8 Mp's nicht 10 10 9 Mp's nicht 3 1
Mk-2 0 0 verfiigbar! 1 4 6 verfiigbar! 9 9 7 verfiigbar! 2 0
Mk-3 0 -2 -1 0 5 2 7 9 8 6 3 1 -1
@ Mf 3 0 -1 -1 1 5 5 7 9 9 7 3 2 0
@ (Mf1-3) 0 0 -1 1 4 6 7 9 9 7 4 2 0
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